Chapter-5
Subtraction

WORKSHEET

A. FILL IN THE BLANKS.

1. The number which is subtracted is called the

2. The result obtained on subtraction is called the

3. The number from which we subtract the other number is called the

4. When we subtract a number from itself, the difference obtained is

5. When we subtract ‘0’ from a number, the difference is the

B. CHOOSE THE CORRECT ANSWER.

6. 89,678—-0=

a. 0 b.1 c. 89,678 d. None

7. 7,89,456 -7,89,456 =

a. 0 b.1 c. 7,89,456 d. None

8. When we subtract a number itself, the difference obtained is

a. 0 b.1 c.2 d. None
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9. The result obtained on subtraction is called the

a. Product b. Sum c. Difference d. None

10. The number which is subtracted is called the

a. Sum b. Minuend c. Subtrahend d. None

C. DO AS DIRECTED.

11. Subtract 98,765 from 6,78,540.

12. How much should be added to 2,34,785 to get 6,78,102?

13. By how much is 48,856 less than from 98,8567
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D. SOLVE THESE.

14. Which is greater, the sum of 2,81,086 and 4,89,000 or the sum of 1,95,865 and
88,900 and by how much?

15. The population of a town is 2,78,653 of which 1,45,000 are men and 98,000 are
women. How many children are there?
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